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Abstract

A Study of the Influences that Visons have on School Life

Byun, Sang-Woo"  Heo, Kap-Soo™

This study is on visions having influence on school life to analyze differences between students
who have clear visions and those who do not during school life. In order to achieve the goal of
this study, the influence which visions have on school life has been analyzed by measuring
attitudes towards school life (satisfaction, a sense of belonging, passion, and frustration) depending
on students who have visions or those who do not.

This analysis shows that the more visions students have, the more satisfaction, a sense of
belonging, and passion they have and the less frustration they have. Thus, visions have positive
influence on school life and it is essential to reinforce education for students to have clear visions

by opening camps to find visions and teaching how to find visions.
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